## **RESOLUTION 2020-162**

RESOLUTION OF THE MAYOR AND BOROUGH COUNCIL OF THE BOROUGH OF MOUNT ARLINGTON, IN THE COUNTY OF MORRIS, NEW JERSEY, ACCEPTING THE BID AND AWARDING THE CONTRACT FOR THE 2020 WATER AND SEWER SYSTEMS EMERGENCY REPAIR SERVICES TO TOMCO CONSTRUCTION, INC.

WHEREAS, the Borough of Mount Arlington has determined that it is necessary to have water and sewer systems emergency repair services for the Borough; and

WHEREAS, the Borough of Mount Arlington advertised and accepted bids for the desired project, and on November 5, 2020, the Borough of Mount Arlington opened and reviewed seven (7) bids to perform the 2020 Water and Sewer Systems Emergency Repair Services. All bids were reviewed for the following: (1) all bid prices (written) were compared with bid prices (figures) for accuracy; and (2) completion of all forms within bid documents. The lowest responsive and responsible bidder, according to the bid tabulation prepared by the Borough Engineer Mrs. Amy Breitwieser, PE, is Tomco Construction, Inc.; and

WHEREAS, Borough Engineer Mrs. Amy Breitwieser, PE, in correspondence dated November 9, 2020, a copy of which is attached to the Resolution and incorporated herein by reference, recommends the Contract be awarded to Tomco Construction, Inc. as the lowest responsive and responsible bidder, at a cost of \$75,151.80; and

WHEREAS, the Chief Financial Officer recommends this award on the grounds that it represents the best price available; and

WHEREAS, the Chief Financial Officer certified the availability of funds for the contract amount, not to exceed \$75,151.80.

**NOW, THEREFORE, BE IT RESOLVED,** by the Mayor and Borough Council of the Borough of Mount Arlington, County of Morris, State of New Jersey that the Contract for the 2020 Water and Sewer Systems Emergency Repair Services is awarded to Tomco Construction, Inc.

This Resolution shall take effect immediately.

I HEREBY CERTIFY this to be a true and correct Resolution of the Mayor and Borough Council of the Borough of Mount Arlington, and adopted on December 1, 2020.

Matthew N. Bansch, Borough Clerk



11 Park Lake Road Sparta, New Jersey 07871 Phone (973) 300-9003 Fax (973) 300-4003 www.cpengineers.com

November 9, 2020

VIA EMAIL: crinaldi@mtarlingtonboro.com

Carolyn Rinaldi
Borough Administrator, C.F.O., Q.P.A.
Borough of Mount Arlington
419 Howard Boulevard
Mt. Arlington, New Jersey 07856

Re:

**Bid Evaluation** 

2020 Water and Sewer Systems Emergency Repair Services

Mt. Arlington, Morris County, New Jersey

CP Project No: 576W009

Dear Ms. Rinaldi:

CP Engineers (CP) has reviewed the bids submitted for the above referenced project. The results of the bidding are as follows:

Bidder	CP Bid Total	Bidder Bid Total
Tomco Construction, Inc.	\$75,151.80	\$75,151.80
John Garcia Construction Co.	\$75,900.25	\$75,900.25
J. Fletcher Creamer & Son, Inc.	\$78,680.00	\$98,680.00
Colonnelli Brothers	\$95,395.00	\$95,395.00
Salmon Brothers, Inc	\$97,025.00	\$97,025.00
Shauger Group	\$103,780.00	\$123,780.00
Montana Construction, Inc.	\$142,950.00	\$142,950.00

Tomco Construction, Inc (Tomco) and John Garcia Construction Co. are the lowest bidders. Their bids are within 1% of each other. To the extent that this bid is based on a hypothetical project, these bids are essentially equivalent. The evaluation performed by this office concluded that both low bids are responsive and responsible. It should be noted that Tomco did not acknowledge receipt of Addendum No. 1 on their bid form. However, I received an email from Tomco reflecting receipt of the addendum when it was sent out, so I am confident that they did, in fact, receive it. The addendum did not contain anything that would affect the bid price.

The differences between the CP Bid Total and the Bidder Bid Total for J. Fletcher Creamer & Son, Inc. and Shauger Group are due to an interpretation for the pricing of line item 15. The extended amounts for those two bids were modified to be consistent with the rest of the bidders to ensure an accurate comparison.

Ms. Carolyn Rinaldi 2020 Water/Sewer Emergency Services Bid November 9, 2020 Page 2 of 2



This modification is acceptable because the basis of this bid was to develop unit prices for a hypothetical project, therefore the unit prices are the focus of the bid as opposed to the extended amount.

Based on the information provided above, this office recommends that the 2020 Water and Sewer Emergency Repair Services Project be awarded to the low bidder, Tomco Construction, Inc. of Mount Arlington, NJ.

Please do not hesitate to contact me should you have any questions.

Very truly yours,

**CP ENGINEERS NJ, LLC** 

Amy Breitwieser, P.E.
Senior Project Manager

AGB/ab

**Encl: Bid Tabulation** 

CC: Matt Bansch, Borough Clerk (via email) Stan Puszcz, P.E., CP (via email)

m:\clients\mount arlington\water projects\576w009 emergency service rfp\2020 rfp\bids\bid review letter.docx

## 2020 WATER AND SEWER SYSTEMS EMERGENCY REPAIR SERVICES (Bid Tabulation)

Shauger Group Tomco Construction Inc. J. Fletcher Creamer & Son, Inc. Montana Construction, Inc. Colonnelli Brothers John Garcia Construction Co. Salmon Bros, Inc. P.O. Box 67 Netcong, NJ 07857 429 Dodd Street 22 Howard Blvd, Suite 204 101 East Broadway 409 South River Street 183 Friar Lane Clifton, NJ 07013 East Orange, NJ 07017 Lodi, NJ 07644 Hackensack, NJ 07601 BID TABULATION FOR 2020 Water and Sewer Systems Emergency Repair Services BOROUGH OF MT. ARLINGTON, MORRIS COUNTY, NEW JERSEY Phone: 973-478-5200 Fax: 973-478-7604 Phone: Phone: 201-440-8282 973-773-4544 973-773-2977 973-347-0013 347-0928 201-444-1118 973-361-7755 973-366-3011 201-488-9800 201-488-2901 BRC BRC BRC PWCR CERT SURETY SURETY X SURETY X SURETY SURETY SURETY SURETY OWNERSHIP OWNERSHIP OWNERSHIP OWNERSHIP OWNERSHIP OWNERSHIP OWNERSHIP SUB LIST ENGINEERS ESTIMATE ADDENDA ADDENDA ADDENDA ADDENDA ADDENDA ADDENDA ADDENDA

ITEM	SEC. #	DESCRIPTION	UNIT	QUANTITY	UNIT COST	EXENDED AMOUNT	UNIT COST	EXENDED AMOUNT	UNIT COST	EXENDED AMOUNT	UNIT COST	EXENDED AMOUNT	UNIT COST	EXENDED AMOUNT	UNIT COST	AMOUNT	UNIT COST	EXENDED AMOUNT	UNIT COST	EXENDED AMOUNT
1		MOBILIZATION	EVENT	5			\$1,000.00	\$5,000.00	\$250.00	\$1,250.00	\$1.00	\$5.00	\$2,500.00	\$12,500.00	\$1,500.00	\$7,500.00	\$500.00	\$2,500.00	\$1,850.00	\$9,250.00
2		SUPERVISION (SUPERS & FOREMEN)	HR	75			\$50.00	\$3,750.00	\$300.00	\$22,500.00	\$325.00	\$24,375.00	\$150.00	\$11,250.00	\$165.00	\$12,375.00	\$0.01	\$0.75	\$125.00	\$9,375.00
3		LABORER	HR	200			\$180.00	\$36,000.00	\$110.00	\$22,000.00	\$225.00	\$45,000.00	\$100.00	\$20,000.00	\$151.00	\$30,200.00	\$50.00	\$10,000.00	\$120.00	\$24,000.00
4		SUPPORT TRUCK	HR	100			\$34.50	\$3,450.00	\$90.00	\$9,000,00	\$50.00	\$5,000.00	\$500.00	\$50,000.00	\$25.00	\$2,500.00	\$100.00	\$10,000.00	\$40.00	\$4,000.00
- 6		SINGLE AXLE DUMP TRUCK W/ DRIVER	HR	40			\$200.00	\$8,000.00	\$125.00	\$5,000.00	\$1.00	\$40.00	\$100.00	\$4,000.00	\$160.00	\$6,400.00	\$300.00	\$12,000.00	\$140.00	\$5,600.00
6		TANDEM DUMP TRUCK W/ DRIVER	HR	40			\$100.00	\$4,000.00	\$90.00	\$3,600.00	\$1.00	\$40.00	\$100.00	\$4,000.00	\$178.00	\$7,120.00	\$300.00	\$12,000.00	\$140.00	\$5,600.00
7		4WD BACKHOE W/ OPERATOR	HR	40			\$225.00	\$9,000.00	\$220.00	\$8,800,00	\$1.00	\$40.00	\$100.00	\$4,000.00	\$205.00	\$8,200.00	\$150.00	\$6,000.00	\$170.00	\$6,800.00
8		ARTICULATED LOADER W/ OPERATOR	HR	40			\$1.00	\$40.00	\$0.01	\$0.40	\$1.00	\$40.00	\$100.00	\$4,000.00	\$20.00	\$800.00	\$80.00	\$3,200.00	\$150.00	\$6,000.00
9		LARGE FULL SWING EXCAVATOR W/ OPERATOR	HR	40			\$300.00	\$12,000.00	\$0.01	\$0.40	\$1.00	\$40.00	\$100.00	\$4,000.00	\$245.00	\$9,800.00	\$80.00	\$3,200.00	\$180.00	\$7,200.00
10		MED. FULL SWING EXCAVATOR W/ OPERATOR	HR	20			\$1.00	\$20.00	\$0.01	\$0.20	\$1.00	\$20.00	\$100.00	\$2,000.00	\$235.00	\$4,700.00	\$150.00	\$3,000.00	\$160.00	\$3,200.00
11		EXCAVATOR MOUNTED COMPACTOR	HR	20			\$1.00	\$20.00	\$0.01	\$0.20	\$1.00	\$20.00	\$10.00	\$200.00	\$10.00	\$200.00	\$0.01	\$0.20	\$75.00	\$1,500,00
12		EXCAVATOR MOUNTED HYDRAULIC HAMMER	HR	20			\$25.00	\$500.00	\$0.01	\$0.20	\$1.00	\$20.00	\$100.00	\$2,000.00	\$20.00	\$400.00	\$125.00	\$2,500.00	\$40.00	\$800.00
13		ASPHALT BOX/PAVER W/ OPERATOR	HR	20			\$600.00	\$12,000.00	\$0.01	\$0.20	\$1.00	\$20.00	\$500.00	\$10,000.00	\$50.00	\$1,000.00	\$395.00	\$7,900.00	\$150.00	\$3,000.00
14		ASPHALT ROLLER W/ OPERATOR	HR	20			\$100.00	\$2,000.00	\$0.01	\$0.20	\$1.00	\$20.00	\$500.00	\$10,000.00	\$10.00	\$200.00	\$70.00	\$1,400.00	\$135.00	\$2,700.00
15		MATERIAL BID MARKUP	PERCENT	\$20,000.00			30.00%	\$6,000.00	5.00%	\$1,000.00	10.00%	\$2,000.00	15.00%	\$3,000.00	10.00%	\$2,000.00	1.00%	\$200.00	30.00%	\$6,000.00
16		FUEL AND PRICE ADJUSTMENT ALLOWANCE	LS	1			\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
17		ASPHALT PRICE ADJUSTMENT ALLOWANCE	LS	1			\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
TOTAL	BID PR	ICE				\$0.00		\$103,780.00		\$75,151.80		\$78,680.00		\$142,950.00		\$95,395.00		\$75,900.95		\$97,025.00

11/5/2020

Amy Breitwieser, N.J.P.E., Lic. No. 24GE05394900

Date